HistFitter template
ABCD background estimation
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dataSample, with ndataA =10
backgroundSample, with nbkgA = 8
bkgSampleA initialised with 1, 11, applied

dataSample , with ndataB = 20
backgroundSample, with nbkgB =5
bkgSampleB initialised with 1, u,*EffB applied

Control Region
C

dataSample, ndataC =50
backgroundSample, with nbkgC =42
bkgSampleC initialised with 1, u,*EffC applied

Control Region
D

dataSample, ndataD = 100
backgroundSample, with nbkgD = 30
bkgSampleD initialised with 1, p 4 *EffB*EffC
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https://github.com/histfitter/histfitter/blob/e2680cc95f830ff39be5ae10f5451fa36513d71d/analysis/tutorial/MyABCDExample.py
https://github.com/histfitter/histfitter/blob/e2680cc95f830ff39be5ae10f5451fa36513d71d/analysis/tutorial/MyABCDExample.py

ABCD — Fit parameters
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WA @ ) - -
Lumi 1.0000e+00 9.1370e-01 +/- 8.63e-02 0.000000
eff B 1.5000e+01 8.8269e+00 +/- 1.14e+00 0.000000
Lurmi Py eff C 8.0000e+00 4.6690e+00 +/- 6.58e-01 0.000000
1 L o o o mu_A 1.0000e+00 1.6988e+00 +/- 2.17e-01 0.000000
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ABCD - Yield Table

table.results.yields channel A B C D
Observed events 10 20 50 100
Fitted bkg events 9.70 4+ 0.22 20.00 £ 2.72 49.93 +£1.51 100.01 £+ 16.07
Fitted NonQCDBackground events 8.00 £ 0.00 5.00 + 0.00 42.00 £ 0.00 30.00 £ 0.00

Fitted dummy_BkgA events 0.00 +0.00 0.00 = 0.00 0.00 £ 0.00

Fitted dummy_BkgB events 0.00£10.00 0.00 £0.00
Fitted dummy_BkgC events 0.00 £ 0.00 0.00 £0.00 0. 0.00
Fitted dummy_BkgD events Ha 0.00 £ 0.00 0.00 £ 0.00 0.01 +£16.07
MC exp. SM events ( 20.00 / 150.00
MC exp. NonQCDBackground events 5.00 30.00
MC exp. dummy_BkgA events 0.0 0.00

MC exp. dummy_BkgB events 0.00
MC exp. dummy_BkgC events

MC exp. dummy_BkgD events




